(26-27) : Statements
All computers are machines.

Some computers are calcula-
tors.
All calculators are objects.
26. Conclusions:
I. At least some objects are
calculators.
II. Atleast some machines are
computers.
27. Conclusions A
I. No object being a machine
is possibility.
II. At least some calculators
are machines.
28. Statements
Some stars are planets.
No planet is moon.
Conclusions
I. At least some moons are
stars.

II. At least some planets are
stars.

29. Statements .
Some whales are mammals.
No mammal is an insect.
All insects are kites.
Conclusions

I. At least some kites are in-
sects.

II. All mammals are kites.
30. Statements

Some governors are directors.

All directors are managers.

Conclusions

I. Some managers are gover-
nors.

II. Some directors are manag-
ers.

(31-32) : Statements
Some pens are erasers.
No eraser is pencil.
All pencils are books.
31. Conclusions
I. No book is eraser.
II. Some books are erasers.
32. Conclusions
I. Some books are pens.

II. All pens can never be pen-
cils.

33. Each vowel of the word BUCK-
SHOT is changed to the next
letter in the English alphabet-
ical order and each consonant
is changed to the previous let-
ter in the English alphabeti-
cal order. If the new alphabets
thus formed are arranged in
alphabetical order (from left to
right). Which of the following
will be fifth from the right ?

(1)R (2B
(3G 4)J
(B5) P

34. How many such pairs of let-
ters are there in the word DIS-
PLACED each of which has as
many letters between them in
the word (in both forward and
backward directions) as they
have between them in the En-
glish alphabetical order ?

(1) One (2) Two
(3) Three (4) Four
(5) More than four

35. In a certain code language
BRIDGE is written as
DUKGIH and NUMBER is
written as PXOEGU. How will
CUSTOM be written in the
same code language ?

(1) EWUVQO (2) EXUWQP
(3)FXVWRP (4) EZUYQR
(5) None of these

Directions (36 - 40) : Study
the following information carefully
and answer the questions given be-
low :

P,Q,R,S, T, Vand W are sev-
en students of a college. Each of
them has a favourite subject from
Physics, Chemistry, English. Biol-
ogy, History, Geography and Philos-
ophy, not necessarily in the same
order. Each of them also has a
favourite sport from Football, Crick-
et, Hockey, Volleyball, Badminton,
Table Tennis and Basketball not
necessarily in the same order.

R likes Philosophy and his
favourite sport is Hockey. The one
who likes Football likes English. T's
favourite sport is not Badminton or
Table Tennis. V does not like either
History or Biology. The one whose
favourite sport is Basketball does
not like Physics. W likes Chemistry
and his favourite sport is Volleyball,
S likes Geography. Q’s favourite
sport is Badminton. V does not like
English and his favourite sport is
not Basketball. P’s favourite sport
is Cricket. The one whose favourite
sport is Badminton does not like
Biology.

36. Who likes History ?
1P (2)R
3)Q 4v
(5) Data inadequate

37. Whose favourite sport is Bas-
ketball ?

(1) s

(2)W

3)Q

(4) Data inadequate
(5) None of these

38. Which subject does T like ?
(1) Biology
(2) Physics
(3) Chemistry
(4) Data inadequate
(5) None of these

39, What is @'s favourite sport ?
(1) Cricket
(2) Table Tennis
(3) Football
(4) Badminton
(5) None of these

40. Which subject does P like ?
(1) History
(2) Biology
(3) Chemistry
(4) Data inadequate
(5) None of these
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English Language

Directions (41-50) : In the fol-
lowing passage there are blanks,
each of which has been numbered.
These numbers are printed below the
passage and against each, five words
are suggested, one of which fits the
blanks appropriately. Find out the
appropriate word in each case.

Prior to independence the
healthcare sector in India was in a
(41) with a large number of deaths
and rampant spread of infectious
diseases. After independence the
Government of India laid (42) on
primary healthcare and India has
put in sustained efforts to better the
healthcare system (43) the country.
The government initiative was not
enough to meet the demands of a
growing population be it in prima-
ry, secondary or tertiary healthcare.
Alternate sources of finance were
critical for the sustainability of the
health sector.

Till about 20 years ago, private
sector ventures in the healthcare
sector (44) of only solo practitioners,
small hospitals and nursing homes.
The quality of service provided was
excellent especially in the hospitals
run by charitable trusts and religious
foundations. In 1980’s realizing
that the government on its own
would not be able to (45) for health
care, the government allowed the
entry of private sector to reduce the
(46) between supply and demand for
healthcare. The establishment of the
private sector has resulted in the
(47) of opportunities in terms of
medical equipment, information
technology in health services, BPO,
telemedicine and medical tourism.

Large companies and (48} in-
dividuals have now started five star
hospitals which dominate the space
for the high end market. The private
sector has made {49) progress, but
on the flip side it is also responsible
for increasing (50) in the health-
care sector. The private sector should
be more socially relevant and effort
must be made to make private sec-
tor accessible to the weaker sections
of society.

41. (1) shambles (2) failure

(3) demand

(5) ruined
42. (1) bricks (2) emphasize

{(3) request  (4) stress

(5) important

(4) prosperity

43, (1) through (2) across
(3) sharing (4) with
(5) on

44. (1) made (2) comprise

(3) consisted (4) is
(5) contained

45. (1) éater (2) provide
{3) manage (4) survive
(5) give

46. (1) gap {2) position

(3) distance (4} length
(5) thought

47. (1) reduction (2) sea
(3) cropping (4) disabling
{5) emergence

48. (1) needy (2) destitute

(3) bigger  (4) affluent
(5) much

49. (1) slowly  (2) improve
(3) many (4) 1m15rovlsed
(5) tremendous

50. (1) speed (2) pace
(3) inequality  (4) uniformi-
ty

(5) seriousness

Directions (51- 60) : Read the
following passage carefully and an-
swer the questions given below it.
Certain words have been printed in
bold to help you locate them while
answering some of the questions.

When wealth came into exist-
ence, a moral structure was made
around money. The Puritan legacy
inhibited luxury and self-indul-
gence. Thoughtful people spread a
practical gospel that emphasized
hard work, temperance and frugal-
ity and the result was quite remark-
able.

The world has been affluent
since its founding. But it was, by
and large, not corrupted by wealth.
For centuries, it remained indus-
trious, ambitious and frugal. Over
the past 30 years, much of that has
been shredded. The soctal norms
and institutions that encouraged
frugality and spending what you

earn have been undermined. The
ihstitutions that- encourage debt
and living for the moment have been
strengthened.. The moral guardians
are forever looking for decadence out
of movies and reality shows. But the
most rampant decadence today is
financial decadence, the trampling
of decent norms about how to use
and harness money.

The deterioration of financial
traditions has meant two things.
First, it has meant an explosion of
debt that inhibits social mobility and
ruins lives. Second, the transfor-
mation has led to a stark finan-
cial polarization. On one hand,
there is what is called an investor
class. It has tax-deferred savings
plans, as well as an army of finan-
cial advisers. On the other hand,
there is the lottery class, people with
little access to financial planning
but plenty of access to payday lend-
ers, credit cards and lottery agents.

The loosening of financial inhi-
bition has meant more options for
the well-educated but more tempta-
tion and chaos for the most vulner-
able. Social norms, the invisible
threads that guide behaviour, have
deteriorated. Over the past years,
people have been more socially con-
scious about protecting the environ-
ment and inhaling tobacco. They
have becorne less socially conscious
about money and debt.

The agents of destruction arc
many and State governments have
also played a role. They hawk their
lottery products with aggression,
which some people call a tax on stu-
pidity. Twenty per cent of the world's
population consists of frequent
players, spending about S60 billion
a year. Aside from the financial toll,
the moral toll is comprehensive.

*Here is the government, the guard-

ian of order, telling people that they
don’t have to work to build for the
future. They can strike it rich for
nothing.

Payday lenders have also played
a role. They seductively offer fast
cash — at absurd interest rates - to
15 million people every month. Cred-
it card companies have played a
role. Instead of targeting the finan-
cially astute, who pay off their debts,
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they have found that they can make
money off the young and vulnera-
ble. Fifty-six per cent of students
in their final year of college carry
four or more credit cards. The na-
tion’s leaders have played a role as
they have always had an incentive
to shove costs for current promises
onto the backs of future genera-
tions. It has only now become re-
spectable to do so. The market it-
self has played a role. Software stal-
warts built socially useful products
to make their fortune. But what
message do the salary packages that
their top, managers get send across
the country when they ignore mil-
lions of fellow countrymen who suf-
fer from poverty, malnutrition or
hunger ? Austerity has become a
thing of the past.

The list could go on. But there
could be some recommendations.
First, raise public consciousness
about debt the way the anti-smok-
ing activists did with their cam-
paign. Second, create institutions
that encourage thrift. Foundations
and religious institutions could is-
sue short-term loans to cut into the
payday lenders’ business. Colleges
could reduce credit card advertising
on campus. The tax code should tax
consumption not income.

But the most important thing
is to shift values. The ‘wise’ made it
prestigious to embrace certain mid-
dle class virtues. Now it's socially
acceptable to undermine those vir-
tues. It is considered normal to play
the debt game and imagine that de-
cisions made today will have no con-
sequences in the future.

51. What does the author mean by
the phrase ‘the transforma-
tion has led to a stark finan-
cial polarization’ as used in
the passage ?

(1) The deterioration of social
: norms has benefited only
the wealthy and the knowl-
edgeable while the vulner-
able class of people has fall-
en into a debt trap
(2) Since moral inhibitions no
longer exist, the debt
agents provide loans only to
the affluent class thus wid-
ening the gap between the
rich and the poor

(3) The debt culture is being

utilized as a measure to |

draw money from the
wealthy class by credit card
companies ‘

(4) Both (1) and (2)

(5) None of these

52. Which of the following is true
in context of the passage ?

(1) Ever since its existence,
money has ruined lives ow-
ing to lack of awareness
among people regarding its
unrestricted usage

(2) Government has taken
many initiatives to control
the rampant money lending
business to protect vulner-
able sections of the society.

(3) Governments throughout
the world have been putting
tax on amount of consurmp-
tion of an individual rath-
er than his/her income

(4) Credit card companies are
discreet enough to provide
credit cards to only those
people who guarantee re-
paying money ih the future

{5) None is true

53. Which of the following can be
the most appropriate title for
the given passage ?

(1) The debt culture and gov-
ernment initiatives to cur-
tail it

{2) Breaking social barriers ~
taking the route of finan-
cial indulgence

(3) Accumulation of debt—a
lesson for the future gen-
erations

(4) Effect of ‘consumerism’ on
the world market

(5) Lack of perseverance for
saving money in India

54. Which of the following, accord-
ing to the author, has/have
been responsible for the en-
couragement of culture of debt
in the society lately ?

(A)The changing lifestyle
which makes it impossible
for, a common man to sus-
tain himself without debts
and loans.

(B)Breaking down of moral in-
stitutions which supported
economic prudence.

(C)Provision for easy availabil-
ity of loans to every section
of the society regardless of
their ability to repay these.

(1)Only A (2) Only B

{3) Both A and C

(4) Both Band C

(5} None of these

55. The author of the given pas-
sage seems to be definitely

(1) suggesting that the agents
of debts be banned from the
society.

(2) unaware of the benefits as-
sociated with the easy
availability of loans these
days

(3) in favour of bringing back
the financial restrictions
once imposed by the soci-
ety

(4) not supportive of cam-
Ppaigns related to anti-to-
bacco and saving the envi-
ronment.

(5) None of these

Directions (56~ 58) : Choose

the word/group of words which is
most similar in meaning to the
word/phrase printed in bold as used
in the passage.

56. THRIFT
{1) Compassion (2) Prudence
(3) Pleasure (4) Acceptance
(6) Frugality

57. STRIKE IT
(1) Smash (2) Reveal
(3) Register (4) Assume
(5) Become

58. AGGRESSION
(1) Violence
(3) Offensively
(4) Determination
{5) Belligerence
Directions (59- 60) : Choose
the word/phrase which is most op-
posite in meaning to the word print-
ed in bold as used in the passage.
59. EXPLOSION
(1) Deflation
(3) Reduction
(4) Simplification
(5) Alteration
60. ABSURD
(1) Expensive (2) Diplomatic
(3) Consistent (4) Invariable
(5) Reasonable

(2) Hostility

(2) Split
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Directions (61-685) : Read
each sentence to find out whether
there is any grammatical error in it.
The error if any will be in one part
of the sentence, the number of that
part will be the answer. If there is
no error, the answer is (5). i.e. ‘No
error'’. (Ignore the errors of punctu-
ation, if any.)

61. It was an evening of (1)/ fun

and frolic as the city’s glitte-

rati (2)/ and high-profile busi-
nessmen made sure (3)/ that

they didn't miss the show. (4)/

No error (5)

Results founding that boys not

only (1}/ play more than girls,

but (2)/ they start earlier, an
outcome that {3)/ could be
clearly related to a cultural

influence. (4)/ No error (5)

63. Videogames may not (1}/ nec-

essarily adversely affect (2)/ the

academic results in children

{3)/ contrary to most parents’s

perception. (4)/ No error (5)

Celebrities showed their chiid-

like side {1)/ yesterday, as most

of them turn up wearing (2)/

cartoon T-shirts for the

screening of (3)/ the latest
animated film in town. (4)/ No

error (5)

65. The study focusing exclusively
to (1)/ critically ill children
found that children with
chronic illnesses, (2}/especial-
ly respiratory illnesses, are
most likely, (3)/ to develop in-
fluenza that requires critical
care. (4)/ No error (5)
Directions (66 -70) : Rear-

range the following sentences (A),

(B), (C), (D), (E) and (F) to make a

meaningful paragraph and then

answer the questions which follow :

(A) In fact according to main-
stream economists it is in-
evitable and a necessary evil
in any economy.

(B) It is thus important for ev-
ery nation to maintain this
reserve of labour force to
maintain an optimal level
of unemployment.

62.

{C) Unemployment is popularly
believed to be an index
which measures the eco-
nomic condition of a na-
tion.

(D) This is because it helps
avert inflation by providing
a reserve army of labour
which keeps wages in
check.

(E) The problem, however, only
emerges when governments
indirectly facilitate unem-

* ployment in order to curb
inflation through various
policies and frameworks,
depriving a large population

of its fundamental rights. .

(F) But contrary to popular
belief unemployment is not
always disadvantageous to
the economy of a state.

66. Which of the following sen-
tences should be the SIXTH

(LAST) after rearrangement ?

MA 2) B
3cC 4) E
(B F

67. Which of the following sen-
tences should be the FIRST
after rearrangement ?

A (2) B
3 cC 4 D
(5) E .

68. Which of the following sen-
tences should be the FIFTH
after rearrangement ?

(A (2 B
3)C 4) E
(5) F)

69. Which of the following sen-
tences should be the SECOND

after rearrangement ?
1) A (2)B
3D 4 E

B F

70. Which of the following sen-
tences should be the THIRD

after rearrangement ?
(1A 2 E

(3) D 4 F

(5) C

Directions (71 - 75) : Each
question below has two blanks,
each blank indicating that some-
thing has been omitted. Choose the
set of words for each blank that
best fits the meaning of the sen-
tence as a whole.

71. As the boat , all those on
board fortunately managed to
reach the bank of the river __,
with the help of the life boats.

(1) capasized, drowned
(2) fell, harmlessly
(3) dropped, = uninjured
{4) deceased, unhurt
(5) sank, safely
72. Ashima ____ her team with a
lot of skill and the ____increase

in the sales by the team is a
measure of her success.

(1) dominates, poor

(2) condemns, sudden

{3) manages, significant

(4) directs, worthless

{5) overpowers, exceptional
On being asked for the pass-
port, he ____to his dismay that
he had ____ to bring it along
with him to the airport.

73.

(1) shocked, failed
(2) realized, forgotten
(3) pleaded, neglected

(4) understood,lost

(5) recognized, missed

Helen quickly ____ the career
ladder and is now the ___ man-
aging director, the company
has ever appointed.

74.

(1) jumped, shortest

(2) entered, oldest

(3) started, junior most
(4) climbed, youngest

{5) ascended, inexperienced

75. A famous economist says that
the government should do more
to ___jobs in the area in order

to curb the ____ rate of unem-
ployment.
(1) create, rising
(2) need, increasing
" (3) employ, high
{(4) invent, growing

(5) generate, slowing

Directions (76 — 80) : Which
of the phrases (1), (2), (3) and (4)
given below each statement should
replace the phrase given in bold in
the following sentence to make the
sentence grammatically meaningful
and correct. If the sentence is cor-
rect as it is and ‘No correction is
required’, mark (5) as the answer.
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